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@ I1L=| 1000 |mL

@ 2dL=| 200 mL

@ 23dL=| 2 |L| 3 |dL

@ 2L8dL=| 28 dL
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2L4dL+ 5L =7LAdL

3L+ 4L =7L

2L+ 5L6dL=7L6dL

5L3dL— 3L =2L3dL

800mL—-600mL =200mL
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2L8dL — 2dL =21.6dL
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| L= 1000 | mL

| dL= 100 mL

|6dL=| 1 |L| 6 |dL

5L3dL= 53 mL
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3L5dL+ 2L =5L5dL

7L+ 2L =9L

6L+ | L5dL =7L5dL

3L5dL— 2L =1L5dL

500mL—200mL =300mL

8L4dL— 2dL =8L2dL
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@ IL=| 1000 |mL

@ 5dL=| 500 | mL

® 32dL=| 3 |L| 2 |dL

@ 2L4dL=| 94 mL
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2L+ 6L =8L
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3L2dL+ 4L =71.2dl,
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4L+ 2L6dL =6L6dL

8L5dL— 5L =3L5dL

G00mL—600mL =300ml.

3L5dL—3dL =3L2dL
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